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Wszystkie lamelki ustawione pod ktem 45o

Wpływ odległoci od ciany lub drugiego nawiewnika 

AWK-1 (kwadrat i koło) - wszystkie lamelki ustawione pod ktem 45 stopni

AWK1 310-8 x (odległo od ciany)
Aef [m2] 0,0166 1 m 2 m 3 m 4 m 5 m

Qh [m3/h]  Lpion (zasig w pionie) 
Lpoziom V=0.2 [m] 0,4

Vmax [m/s] 1,2
25 Vr [m/s] 0,4

∆P [Pa] 0,7
dB(A) <30

Lpoziom V=0.2 [m] 1,0
Vmax [m/s] 2,3

50 Vr [m/s] 0,8
∆P [Pa] 2,6
dB(A) <30

Lpoziom V=0.2 [m] 2,2 0,3
Vmax [m/s] 4,7

100 Vr [m/s] 1,7
∆P [Pa] 10,7
dB(A) <30

Lpoziom V=0.2 [m] 3,3 0,6 0,4 0,1
Vmax [m/s] 7,0

150 Vr [m/s] 2,5
∆P [Pa] 24,2
dB(A) <30

Lpoziom V=0.2 [m] 4,5 1,0 0,7 0,3 0,1
Vmax [m/s] 9,3

200 Vr [m/s] 3,3
∆P [Pa] 43,3
dB(A) 30

Lpoziom V=0.2 [m] 5,7 1,3 1,0 0,6 0,3
Vmax [m/s] 11,7

250 Vr [m/s] 4,2
∆P [Pa] 67,8
dB(A) 35

Lpoziom V=0.2 [m] 6,9 1,6 1,4 0,9 0,4 0,1
Vmax [m/s] 14,0

300 Vr [m/s] 5,0
∆P [Pa] 98,0
dB(A) 40

Lpoziom V=0.2 [m] 8,1 1,9 1,7 1,2 0,6 0,2
Vmax [m/s] 16,3

350 Vr [m/s] 5,9
∆P [Pa] 133,7
dB(A) 43

Wszystkie lamelki ustawione pod ktem 45o

Wpływ odległoci od ciany lub drugiego nawiewnika 

AWK-2 - wszystkie lamelki ustawione pod ktem 45 stopni
Typ 600-48 x (odległo od ciany)

Aef [m2] 0,0997 1 m 2 m 3 m 4 m 5 m
Qh [m3/h]  Lpion (zasig w pionie) 

Lpoziom V=0.2 [m] 0,7
Vmax [m/s] 1,2

100 Vr [m/s] 0,3
∆P [Pa] 0,5
dB(A) <30

Lpoziom V=0.2 [m] 1,2
Vmax [m/s] 1,7

150 Vr [m/s] 0,4
∆P [Pa] 1,1
dB(A) <30

Lpoziom V=0.2 [m] 1,6 0,2
Vmax [m/s] 2,3

200 Vr [m/s] 0,6
∆P [Pa] 2,0
dB(A) <30

Lpoziom V=0.2 [m] 2,1 0,3
Vmax [m/s] 2,9

250 Vr [m/s] 0,7
∆P [Pa] 3,2
dB(A) <30

Lpoziom V=0.2 [m] 2,5 0,4 0,1
Vmax [m/s] 3,5

300 Vr [m/s] 0,8
∆P [Pa] 4,6
dB(A) <30

Lpoziom V=0.2 [m] 3,0 0,5 0,3
Vmax [m/s] 4,0

350 Vr [m/s] 1,0
∆P [Pa] 6,2
dB(A) <30

Lpoziom V=0.2 [m] 3,4 0,7 0,4 0,1
Vmax [m/s] 4,6

400 Vr [m/s] 1,1
∆P [Pa] 8,1
dB(A) <30

Lpoziom V=0.2 [m] 3,9 0,8 0,5 0,2
Vmax [m/s] 5,2

450 Vr [m/s] 1,3
∆P [Pa] 10,3
dB(A) <30

Lpoziom V=0.2 [m] 4,4 0,9 0,7 0,3 0,1
Vmax [m/s] 5,8

500 Vr [m/s] 1,4
∆P [Pa] 12,8
dB(A) <30

Lpoziom V=0.2 [m] 5,3 1,2 0,9 0,5 0,2
Vmax [m/s] 6,9

600 Vr [m/s] 1,7
∆P [Pa] 18,4
dB(A) 32

Lpoziom V=0.2 [m] 6,2 1,4 1,2 0,7 0,3 0,1
Vmax [m/s] 8,1

700 Vr [m/s] 2,0
∆P [Pa] 25,1
dB(A) 36

Lpoziom V=0.2 [m] 7,1 1,7 1,4 0,9 0,5 0,1
Vmax [m/s] 9,2

800 Vr [m/s] 2,2
∆P [Pa] 32,9
dB(A) 40

Lpoziom V=0.2 [m] 8,0 1,9 1,7 1,1 0,6 0,2
Vmax [m/s] 10,4

900 Vr [m/s] 2,5
∆P [Pa] 41,7
dB(A) 44

Lpoziom V=0.2 [m] 8,9 2,2 1,9 1,3 0,7 0,3
Vmax [m/s] 11,5

1000 Vr [m/s] 2,8
∆P [Pa] 51,6
dB(A) 47

aWK-2-PK, aWK-2-PO

Diffusers – technical data	 2.2.

Instructions for the charts for selection of swirl diffusers AWK with and without 
a consideration of the influence of a wall and the second diffuser

Part of the basic diagram concerning 
a reflow along the ceiling without the 
influence of a wall. 

Part considering the influence of a wall or other 
diffuser for range.

Example:

1)	Singular diffuser without the influence of a wall eg. Qh=250 m3/h has 
the stream range velocity equal to 0,2 m/s 5,7m.

2)	If we take into consideration the influence of a wall eg. from 
a distance equal to 3 m, then: Range through a ceiling is equal 

to 3 m till a wall, vertical range through a ceiling equals 0,6 m from 
a ceiling (alltogether 3 m + 0,6 m = 3,6 m).

3)	If we have two diffusers in a distance of eg. 6 m from each other 
and we search for a stream range between them, it is expected 
to divide by two the distance between them (so in this case it will 
be 3 m) and to read it as for the influence of a wall in a distance 
of 3 m.
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